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CHEMISTRY

PHYSICAL, INORGANIC, AND ORGANIC CHEMISTRY

IUPAC NOMENCLATURE & STRUCTURAL ISOMERISM

QUESTION

1. Calculate o and m-bond in following compounds.

(a)HC = CCH = CHCH; (b)CHy = C = CHCH;

° Watch Video Solution

2. Expand each the following condensed formulae into their complete
structural and bond line formulae:

(a)CH;gCHzCOCHQCH3 ,(b)CH3CH = CH(CH2)3CH3


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6CAI1DlLAlWo
https://dl.doubtnut.com/l/_CGE3gWDWIsrH

o Watch Video Solution

3. For each of the following compounds, write a comdensed formula
and also their bond-line formula.

OH

\
N=C-CH-C=N

o Watch Video Solution

4. \Write the IUPAC name of

3 4
CH3 — CHy — CHl - CHy — Gt — CH,
1 2 | J 7
CN - CHs TH; - CH,

o Watch Video Solution



https://dl.doubtnut.com/l/_CGE3gWDWIsrH
https://dl.doubtnut.com/l/_r4nybWQU49o9
https://dl.doubtnut.com/l/_WTduUy1JzKFa

5. Write IUPAC name of the aromatic compounds

CH,
, |
CH,~-CH-CHO CH,OCH,

(i)

o Watch Video Solution

6. Write the structural formula of:
(a@)o-Ethylanisole, (b)p-Nitroaniline,

( ©)2, 3-Dibromo-1-phenylpentane , (d)4-Ethyl-1-fluoro-2-nitrobenzene.

o Watch Video Solution

Bord Level Exercise


https://dl.doubtnut.com/l/_nEyvut8TOJsB
https://dl.doubtnut.com/l/_LMbMp6LJcWHA

1. Write the structure of following IUPAC name:
()1, 1-Dibromo-3-ethyl-4-flourohexane , (ii))5-Bromomethyl-6-

methylhept-3-ene

o Watch Video Solution

2. Write the structure of following IUPAC name:

(i)2-Methylpentane-2,4-diol , (ii)4-Methylhexane-2-ol

° Watch Video Solution

3. Write the correct I[UP AC name of the following:

() H;C — .T\r - C|H — CH;,(l) CH; — CH, — C|H — NH — CHj;

CH; CHy CHy

o Watch Video Solution



https://dl.doubtnut.com/l/_IKHVdjRrt5Hx
https://dl.doubtnut.com/l/_qCfRHF6xlz6b
https://dl.doubtnut.com/l/_QtVuSM8SXK2Z

4. Write the structure of following IUPAC name:

(i)3-Etylnhexa-1,4-diene, (ii)1-Cyclobutylprop-1-ene

° Watch Video Solution

5. Write the correct IUP AC name of the following:

CHy
|
(i) H3C-CH-CH- C -S03H
|cz L‘ar CH,CH;
HOOC - CH, — CH, — CH — SOsH

CH;

(i)

o Watch Video Solution

6. Write the correct IU P AC name of the following:

Br

. CHO O Br
(I))ﬁ/ (i) MC\

(i)

o Watch Video Solution



https://dl.doubtnut.com/l/_XZeudQjCu3qt
https://dl.doubtnut.com/l/_6c3JntbzA9iz
https://dl.doubtnut.com/l/_3JI132tHUOmi

7. Write the structure of following IUPAC name:

(i)2-Methoxybutan-1-ol , (ii)4-Chloro-2-methylphenol

o Watch Video Solution

8. Write the correct IUP AC name of the following:

o
i

W
C - OCH,

AO® (i <6/\—{6§

o Watch Video Solution

9. What is isomerism? Give an example.

o Watch Video Solution



https://dl.doubtnut.com/l/_3JI132tHUOmi
https://dl.doubtnut.com/l/_YWr1UB5Tr7X0
https://dl.doubtnut.com/l/_pQBmroiK1miB
https://dl.doubtnut.com/l/_oW9iooydWhHl

10. What is positional isomerism? Give an example.

o Watch Video Solution

11. What is Metamerism? Give an example.

o Watch Video Solution

12. Identify the molecular weight of the compound "X’ containing
carbon and hydrogen atoms only with 30 and 27 bonds in one

molecule.

o Watch Video Solution

13. Write the ring chain functional isomer of compound But-2-ene are?

o Watch Video Solution



https://dl.doubtnut.com/l/_4Y872UM4EN4a
https://dl.doubtnut.com/l/_kwYJPzCSDkVy
https://dl.doubtnut.com/l/_ndIiHOuD3uq6
https://dl.doubtnut.com/l/_i81yMfEOd9kX

14. Write the correct IUP AC name of the following:

O CH; CH;

A, I |
Cl—C—C=CH—CH — CH, — CHs

o
YIS SN
B.

o Watch Video Solution

15. Identify the relationship between the give compounds.

@) 7"y and )\/OH


https://dl.doubtnut.com/l/_mUhW9k3sKP7r
https://dl.doubtnut.com/l/_RsdZRPIrvQ17

: ) /\O/\ and )\O/

. méw Wé " @ o
&

(@)
&

D. CH,COOCH;3; & CH;COCH,0OH

o Watch Video Solution

16. Write down the ITUP AC name of the following compound:

(a)Methyl benzoate , (ii)Phthallic acid , (iii)Neopentane, (iv)lsoctane

° Watch Video Solution

17. What is the type of hybridisation of each carbon in the following:

A.CH;ClI
B.(CH;),CO

C.CH;C = N


https://dl.doubtnut.com/l/_RsdZRPIrvQ17
https://dl.doubtnut.com/l/_uCUaedRNiNHZ
https://dl.doubtnut.com/l/_xX3rGWffkcKB

D. HCONH,

o Watch Video Solution

18. Which of the following represents the correct IUP AC name of the

compounds concerned?

A. 2, 2-Dimethylpentane or 1, 2-Dimethylpentane

B. 2, 4, 7-Trimethyloctane or 2, 5, 7-Trimethyloctane

C. 2-Chloro-4-methylpentane or 4-Chloro-2-methylpentane

D. But-3-yn-1-ol or But-4-ol-1-yne.

o Watch Video Solution



https://dl.doubtnut.com/l/_xX3rGWffkcKB
https://dl.doubtnut.com/l/_X2RnqItdKZgc

19. Write common & IUP AC name of the following structure:

CH=CH,

CH, OH CHO
CH, A - _on
(l)@ (i) (iii) @ )
CH,

o Watch Video Solution

20. Identify the relationship between the give compounds.

(1) /‘\\‘/J\\/ and )\/(
A.

Cl

. cl
@ ’/Lj/k and /\7< -
8r

B. Br
(o)
@) \,k _~Hand /\O/ﬁ\
C 0 )
o} Q
(4)/\/u\0/ and )\c)‘\
D.

o Watch Video Solution



https://dl.doubtnut.com/l/_zX58ylMpVCh7
https://dl.doubtnut.com/l/_5H2X6BteCNA4

Exercise-1 Part-1 Section(A)

1. Write the number of o and 7 bonds in the following molecules?

O

l .H; T
@ @ (b) O<()H () ;\‘--(. H,

¥

o Watch Video Solution

2. Find the number of 1°,2° & 3° hydrogen atom in the following

compounds
(a)CHj3 — C|H —CHs; , (b)CH3 —CH, — CH; , (0
CHj

CH, — CH, — CH, — CHj

° Watch Video Solution



https://dl.doubtnut.com/l/_sN9k4VqXmPph
https://dl.doubtnut.com/l/_4B2HtXdaa2z4

3. Find the hybridization state of each carbon atoms in following
compound?

CH2:C:CH—CH2—C:C—CH2—NH2

o Watch Video Solution

4. Expand each the following condensed formulae into their complete
structural and bond line formulae:

A .HOCH,CH,NH,

B.CHy(CH,);OH

C.CH;CH,COCH,CHj;

D. CH;CH = CH(CH,),CHj

Answer: A::B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_ebygAqqvrVWO
https://dl.doubtnut.com/l/_85J1m5yvPak2
https://dl.doubtnut.com/l/_TtkEjpUTj9hb

5.Find DU of following compound:-

(A)CsHjs , (B)Cs Hyy , ( C)CrHg , (D)

o Watch Video Solution

6. Find DU of following compound:-

(a) CeHﬁO s (b)CGH5I s ( C)CﬁHﬁClB’I’O , (d)C5HgN

o Watch Video Solution



https://dl.doubtnut.com/l/_TtkEjpUTj9hb
https://dl.doubtnut.com/l/_QqHdr2QhyYjG

7. Draw formulae for the first four members of each homologous series

begining with the following.
o
|

(a)H — COOH ,(b)H — CH = CH, ,(c)CH; — C — CHj3

o Watch Video Solution

8. Classify the following compounds as homocyclic, heterocyclic,

alicyclic,aromatic,ssaturated and unsaturated.

(a)'O (b} © © Q (W ANF

o Watch Video Solution

9. Indicate the following as 1°, 2° & 3° amines.

\—/ ) /(H ‘:
@¢ N ) = N (@) /“\< @{  eon,
/)



https://dl.doubtnut.com/l/_utQXeqnZKgb6
https://dl.doubtnut.com/l/_tc0wShkwbYh9
https://dl.doubtnut.com/l/_Zsdpj7kM5H9e
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10. Indicate the following as 1°, 2° & 3° alcohol.

- P y\\
N £ DNon ©~f "o

(a) E ,\)-“-()z‘;' (b) i\\/

o Watch Video Solution

Exercise-1 Part-1 Section(B)

1. Write ITUP AC name of the following compounds:

CH; CH;
| |
(a)CH3 — OH — CH3 , (b)CHg — OH — CH3 , ( C)
o,

CHg CHg

| |
CH; — CH — CHy — CH;5,(d)CH; — IC — CH, — CH;

CHj,

° Watch Video Solution



https://dl.doubtnut.com/l/_Zsdpj7kM5H9e
https://dl.doubtnut.com/l/_vsRVUF1IXebI
https://dl.doubtnut.com/l/_XwwhcMmEsHrM

2. Write IUPAC name of the following compounds:

(]:H3 (EH,——CH,
(@) CH, - CH, - ¢H = CH, ~ CH ~ CH, - CH, - CH, () CH, = G — CH, - CH ~ CH, ~ GH - CH,

CH, CH, - CH, CH, CH,
(C)/C\

o Watch Video Solution

3. Write correct JlUP AC name of the following

N Me .
(i) [/ (i) (iii) (w)< —7/ -

° Watch Video Solution



https://dl.doubtnut.com/l/_NV5T2XfntltK
https://dl.doubtnut.com/l/_iAmsGnwKDQtB

4. Write the correct IUP AC name of the following compounds.

T,
L
(i) CHg — CHp —CHy — CHy —CHp —CH — Q\— [
i y
@ CHy CRp —Chy —Cria
-

oo O

n

I

C 4 - CH — CH — CH, - CH, ~ CH
(i) Gy — CH, = CH. TH H — CH, — CH, ~ CH,

/?\ '
“CH,
HC ch,

(i)

° View Text Solution

5. Write structures of the following IUPAC name.
()1, 3-Dicyclopentyl propane, (ii)1-Methyl-4-propylcyclohexane

(iii)2-Ethyl-1, 1-dimethylcyclopentane

o Watch Video Solution

6. Write IUPAC names of the following hydrocarbon (use common

naming for hydrocarbon group.


https://dl.doubtnut.com/l/_7pWcR9vWQTQx
https://dl.doubtnut.com/l/_LKeOl286NZOt
https://dl.doubtnut.com/l/_jOFpPGydfL9G

(@) O/K/ (b) O/% (c)5 (S

o Watch Video Solution

7.1dentify the parent chain in the following compounds as ring or side
chain

~ TS

(b) {\- © D

il
A

o Watch Video Solution

8. Write the common name of the following alkyl groups.

CH,
CH,-CH, P
(b) ~-CH‘/ ) i ©) ~CH,
“NCH, 1,

_CH,

L
(@ U ep,


https://dl.doubtnut.com/l/_jOFpPGydfL9G
https://dl.doubtnut.com/l/_xanvZCYFTi9Y
https://dl.doubtnut.com/l/_4ze6HdTOyIca

CHy

|
(0)— |C — CH;3

CHy

(d)—CHQ — CHg s (e)C’H3 — CH2 — CH2 —

o Watch Video Solution

Exercise-1 Part-1 Section(C)

1. Write the general formula of alkenes. Give IUPAC names of first

three members.

° Watch Video Solution

2. Write IUPAC name of the following:
()(CH;),C — CH = CH,
(i'lCHy = CH — CH = CH,

CH,; — CH, — CH,


https://dl.doubtnut.com/l/_4ze6HdTOyIca
https://dl.doubtnut.com/l/_dlEU1LqwCwr7
https://dl.doubtnut.com/l/_W8krWMrksYgw

CHj CH,
| |
(|J’ — CH; — C = CH>

CHy

N . R el bl T T
( ) /“:t: VE IRV R N N A e 'ﬁ
\Y) -
/ ""f.-_‘

(iv)

° Watch Video Solution

3. Draw the bond line structure of the following compound.
(a) 2-Methyl-3-heptene " "

(b) 2,6-Dimethyl hept -1, 5-diene

o Watch Video Solution



https://dl.doubtnut.com/l/_W8krWMrksYgw
https://dl.doubtnut.com/l/_cciRxka8IQcD

4. Write IUP AC name of the following

hMe
(i) gm“::..m,/\\/

\
Me
(i) , (i)

|
CHg—CH—C’ECH,(iii)CHg—CEC—C]H—CHg

CHj

o Watch Video Solution

5. Draw structure of following IUPAC names.
(iHexa-2, 4-diyne , (ii)Pent-3-ene-1-yne

(iii)Pent-1-en-4-yne , (iv)Pent-1-en-3-yne

o Watch Video Solution



https://dl.doubtnut.com/l/_6LZKyzDsUw3K
https://dl.doubtnut.com/l/_cFOWHcto3kSE

6. Write the IUP AC name of the following

. N Chy CH,-CH = CH - CH - CH,
@) (i) Q/ o

CHCH,
Gy (iv)@

(i)

o Watch Video Solution

Exercise-1 Part-1 Section(D)

1. Write the IUP AC of the following compounds.

OH

s
g i

/l - TN (d RN
(a) Z' ® " Loy, © /1‘0H£ o ’ P,
N H cl OEt N \
TN TN TN “~
(e) H sro ,4'1 ) //?‘T"\/B’ (9) /[\g/‘ ¢ (h)/k \‘/t “SOH
i MeCl 8r

(a)

o View Text Solution



https://dl.doubtnut.com/l/_6sWzhkxcO0O2
https://dl.doubtnut.com/l/_UeHgf3VCaql6

2. Draw the structures of each of the followings.

(a)Butan-1-ol , (b)Butane-2-thiol , ( c)Pentan-2-amine , (d)Pentane-2-one ,

(e)3-Chloropentan-1-ol , (fl]Hexan-2, 4-dione

o Watch Video Solution

Exercise-1 Part-1 Section(E)

1. Select the longest continous chain in each of the following

molecules.

(@ | Y T e A
CHO (b) (I:HO(KDHO © o @ & H=0
o] C
| ol o I I “ "
Aot Il s PPN s
€ R T P S )
CHO CH=0 =" CHO “NoH

o View Text Solution



https://dl.doubtnut.com/l/_MDjjvPN56awi
https://dl.doubtnut.com/l/_fcbnpOUO6u21

2. Write the structure of the following compounds:
(a@)3-Hydroxypentane-2-sulphonic acid. , (b)3-Oxopentanoic acid
( c)3-Chloromethylpentanoic acid , (d)2-Aminobutanamide
(e)3-Bromobutanoyl chloride, (f)Ethyl methanoate
(g)Cyclohexyl ethanoate , (h)Phemul ethanoate
(i)2-Chloroethyl propanoate, (j)Diethyl pentanedioate

(k)\Dimethyl 3-oxopentanediate , (I)Methyl cyclohexanecarboxylate

o View Text Solution

3. Write the structure of the following compounds:
(a)Butanamide , (b) N-methylethanamide

( c)Cyclopropanecarboxylic anhydride , (d)Cyclopropylbutaneoate

o Watch Video Solution



https://dl.doubtnut.com/l/_8JliX4WBoGWz
https://dl.doubtnut.com/l/_EFm2Y0zQbuR2

4, Write IUPAC Name:

o

|
(a) CH30H2 — qH —C - OCH?, s

CH,
Cay
o)
o) CH. g NH
. I P
(b) CH, - (‘DH ~CH,~C~0-CH, (c) CH, - (i;—-—CH - C‘;H ~CH,
CH =CH, CH, CH,

o Watch Video Solution

5. Write IUP AC names of following compounds.

Q o} |. ? o)
a ko/‘k b c& d ‘30
;()ﬁ/' (b) @ ©f ) u@
a) °

(

° View Text Solution



https://dl.doubtnut.com/l/_mqkpGqqTumdo
https://dl.doubtnut.com/l/_Fn66BTligjyg

6. Write I[UP AC names of following compounds.

(a) \yj\NH.

9]

) \)LT\NH/

o]
(c) Yn\‘\‘( (d)

Ph

Ph
ﬁ\NH/

o Watch Video Solution

7. Write the correct IUPAC names of following:

0
CH.-—0O I
(a) H>C =0 CH—C
b
CHa—Cl: ( ) CH‘_C/
CH, é
o) SO,H
] CH,
_ —~C-NH (d)
(C) Hzc—-— CH—CHZ CHz c 2 O\rol/
o Watch Video Solution

Exercise-1 Part-1 Section(F)



https://dl.doubtnut.com/l/_AmP32fTxggmM
https://dl.doubtnut.com/l/_pzLdwJnVkfPQ

1. Write IUP AC name of the following:

s g ACHA \)/
mé (b)é‘ (c)@ Lp) @) {(VJ

o Watch Video Solution

2. Write the correct IUP AC name of the following:

NO,

Br Ph a
CH, - CH, P~
2 O~ ® /Y'vk/ ° . \@
S o AN ~NO,

Ph
Ci

° View Text Solution

3. Write common & IUP AC name of the following structure:

o+ cHO
0\ s OH
(i) i)
CH,

CH = CH,

on,
\__CH,
0 @' (i) @

° Watch Video Solution



https://dl.doubtnut.com/l/_vuQUOstzcYdD
https://dl.doubtnut.com/l/_xBDUB01At8Gs
https://dl.doubtnut.com/l/_Iqcv6ndFFB3G

Exercise-1 Part-1 Section(G)

1. Identify the relationship between the give compounds.

9 Q
: |
@ SNy and I8 ®) \/J\o _H and /\QKH

O (e]
() /k/u\o/ and /{ \.C/”\

o Watch Video Solution

2. Identify the relationship between the give compounds.

4
Lt
i
H

I
i

y"/"‘i\\f /\ ’
“ 8 © %
\\/

S
(c) )\O/\‘/& /\O/ \i/

@  7YTNH & S,

o Watch Video Solution

Exercise-1 Part-1 Section(H)



https://dl.doubtnut.com/l/_noJTMKBftq7r
https://dl.doubtnut.com/l/_W0jiP54hDiHx

1. Draw all structurally isomeric alkenes with molecular formula Cy Hg

o Watch Video Solution

2. Draw all structurally isomeric 2° chlorides with molecular formula

CsHy,1Cl

o Watch Video Solution

3. Draw all structurally isomeric benzene containing isomers with

molecular formula C; H;0

o Watch Video Solution

4. Draw all structurally isomeric cyclic bromides with molecular formula

C4H7BT‘.

| o wAr_o_L vl e~_ .0


https://dl.doubtnut.com/l/_h271Y5naIMV4
https://dl.doubtnut.com/l/_yUFPjajBQhiT
https://dl.doubtnut.com/l/_KM6QpDzkQbjM
https://dl.doubtnut.com/l/_MoipDEqATCw5

L vvdilll VIUCU o0IuULivIll

5. Write the ring chain functional isomer of compound But-2-ene are?

o Watch Video Solution

Exercise-1 Part-2 Section(A)

1. Number of bonds in given compound is:
CH,=C=CH-C=CH

A.10

B.12

C.14

D.16

Answer: B

| o Wiab . \nNdaa Col.ibiaa


https://dl.doubtnut.com/l/_MoipDEqATCw5
https://dl.doubtnut.com/l/_sd7RY9g2bCux
https://dl.doubtnut.com/l/_6bflDosKesQ6

L ¥Yvdilll VIUCUV JVIULIVII ) |

2. Molecular formula of naphthaquinone

O

A. Cyo HsO,


https://dl.doubtnut.com/l/_6bflDosKesQ6
https://dl.doubtnut.com/l/_vAnQWLdioKNa

B. C]_IH602

C. 010H6O2

D. Cyo HsO,

Answer: C

o Watch Video Solution

3.(a)

Incorrect statement for the above structure:

A. LIl & Il have Cy, Hy, — o general formula

B. LIl & Il have same empirical formula

C. LIl are identical and homologue of compound IlI.

D. LIl & Il have same molecule formula


https://dl.doubtnut.com/l/_vAnQWLdioKNa
https://dl.doubtnut.com/l/_osMEK2tdvb9J

Answer: C

o Watch Video Solution

4. Which of the following is not an alicyclic compound?

B.
©) f
‘z_
C !
N
DI
D.

Answer: D


https://dl.doubtnut.com/l/_osMEK2tdvb9J
https://dl.doubtnut.com/l/_b0d19jDJAUAt

o Watch Video Solution

5.The saturated heterocyclic compound is:

R

P

3 ¥
(A) L\“N B


https://dl.doubtnut.com/l/_b0d19jDJAUAt
https://dl.doubtnut.com/l/_gMDSuoK0c0Re

Answer: C

o Watch Video Solution

6. Which of the following compound is unsaturated hydrocarbon?

o

I
A CH; — C — CH;,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gMDSuoK0c0Re
https://dl.doubtnut.com/l/_f0n4f55Xwst6

Exercise-1 Part-2 Section(B)

1. The correct IUPAC name of the alkane
\/‘\
A. 2-Ethyl-4-methylhexane
B. 5-Ethyl-3-methylhexane

C. 3, 5-Dimethylheptane

D. 3, 5-Dimethylhexane

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_s57jVwGVY7nn

2.The correct structure of 6-Ethyl-2, 3, 5-trimethylnonane is:

Answer: A

o Watch Video Solution

3. The correct IUPAC name of the following compound is:

H NOy

| |
F-C-C —-Et

SN


https://dl.doubtnut.com/l/_s57jVwGVY7nn
https://dl.doubtnut.com/l/_SsNQ3S7MRRAn
https://dl.doubtnut.com/l/_ib7T2COT8tSI

A. 1-Bromo-1-ethyl-2-fluoro-2-iodo-1-nitroethane.

B. 3-Bromo-4-fluoro-4-iodo-3-nitrobutane.

C. 2-Bromo-1-fluoro-1-iodo-2-nitrobutane.

D. 1-Fluoro-1-iodo-2-bromo-2-ethyl-2-nitroethane.

Answer: C

o Watch Video Solution

4. A student names a certain compound as 2, 3-diethylbutane. Its

correct IUPAC names is:

A. 2, 3-Dimethylhexane

B. 3, 4-Dimethylhexane

C. 2-Ethyl-3-methpentane

D. 2-Ethylbutane


https://dl.doubtnut.com/l/_ib7T2COT8tSI
https://dl.doubtnut.com/l/_9Wp1p8AI0dNg

Answer: B

o Watch Video Solution

5. In which of the following compound IUPAC numbering is correct :



https://dl.doubtnut.com/l/_9Wp1p8AI0dNg
https://dl.doubtnut.com/l/_HgpjxF1alrwK

Answer: C

o Watch Video Solution

Exercise-1 Part-2 Section(C)

1. Select the structure with correct numbering in the chain:

4 2 1
ACH,=CH—CH,— C = CH

1 2 3 4 5 6
B.CH; —CH=CH - CH, - C=CH

2 1
CC’H2 C’H C’H C’H CH2 CH = CH,

1 2 3 4 5 6 7
D.CHy=CH-CH=CH-CH,-(C=CH

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HgpjxF1alrwK
https://dl.doubtnut.com/l/_F0Sn7hf7p18i

2. The «correct IUPAC name of the compound

CoHg
|
CHy =CH — CH; — CH — CH3

A. 4-Ethylpent-1-ene

B. 2-Ethylpent-4-ene

C.4-Methylhex-1-ene

D. 3-Methylhex-1-ene

Answer: C

o Watch Video Solution

3. The correct structure of 2-Ethyl-3-methylhexa-1, 4-diene:

|
A)L‘
A‘<_. A


https://dl.doubtnut.com/l/_03fvppT78Ktx
https://dl.doubtnut.com/l/_OayCPlokYn6z

C.
o | (
AL w7
D. "
Answer: C

o Watch Video Solution

4.The correct IUPAC name of the compound

X


https://dl.doubtnut.com/l/_OayCPlokYn6z
https://dl.doubtnut.com/l/_blTC7kucuIla

A. 1-Ethenylcycohexa-2, 4-diene

B. 5-Ethenylcyclohexa-1, 3-diene

C. 6-Ethenylcyclohexa-1, 3-diene

D. Cyclohexa-2, 4-dienylethene

Answer: B

° Watch Video Solution

Exercise-1 Part-2 Section(D)

1. Which of the following is a correct priority order of functional

groups ?

o
]
A (A) — COOH > —SOH >—-NH,>—C—NH,
.

O

o
1t il
@) —C— H> G R> - OH> —NH,

B.

\ il \
—8 > m G R > -0
C (©)—SOH R )= GHO ) = Oi


https://dl.doubtnut.com/l/_blTC7kucuIla
https://dl.doubtnut.com/l/_ugM11nzJbyPV

1 I i 9
D ) ~C ,o¢e>‘c~x>Ac—o—c—>—cHo

Answer: B

o Watch Video Solution

2.The IUPAC name of

Br

|
CHg — C]H—C.Hz —CH2 — CH2 —|C'—CH3 is:

oH Br
A. 6, 6-Dibromoheptan-2-ol

B. 2, 2-Dibromoheptane-6-ol

C. 6, 6-Dibromoheptan-2-al

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ugM11nzJbyPV
https://dl.doubtnut.com/l/_D2OqphZph4Bb
https://dl.doubtnut.com/l/_cYKDAAUDC53L

3. The correct structure of 6-Amino-4-hydroxycylohex-2-ene-1-sulphonic

acid.
SO H
NH
(A)
A OH
SOH
SOH
(%
NH,
C OH
D.
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cYKDAAUDC53L

4.The correct IUPAC name of the given compound is

I—l(J:|C’—CEC'—OC'H2
F

A. 3-Chloro-1-fluoro-1-iodo-4-methoxybut-1-en-3-yne

B. 4-Methoxy-2-chloro-1-fluoro-1-iodobutenyne

C. 3-Chloro-4-fluoro-4-iodo-1-methoxybutenyne

D. 2-Chloro-1-fluoro-1-iodo-4-methoxybutenyne

Answer: D

o Watch Video Solution

Exercise-1 Part-2 Section(E)

1.The IUPAC name of the following is :

CH3CH = CH — CH> — C]H — CH,COOH

NH>


https://dl.doubtnut.com/l/_B07O2zXNhBc8
https://dl.doubtnut.com/l/_xkZDYL2jox8r

A. 3-Aminoheptlenebutanal

B. 5-Aminohex-2-enecarboxylic acid

C. 3-Aminohept-4-enoic acid

D. 5-Aminohept-2-enoic acid

Answer: A

o Watch Video Solution

O

as:

is names


https://dl.doubtnut.com/l/_xkZDYL2jox8r
https://dl.doubtnut.com/l/_mEQQ82UDRiW7

A. 2, 3-Dimethylenebutanal

B. 3-Methyl-2-methylenebut-3-enone

C. 3-Methyl-2-methylenebut-3-enal

D. 2, 3-Dimenthylenebutanone

Answer: C

o Watch Video Solution

3. The correct IUP AC name of compound is:

O
|

Ci


https://dl.doubtnut.com/l/_mEQQ82UDRiW7
https://dl.doubtnut.com/l/_dFAmMSsaQPm5

A. 1-Chloropentane-1, 4-dione

B. 4-Chlorocarbonylbutan-2-one

C. 4-Oxopentanoyl chloride

D. 3-Oxobutanecarbonyl chloride

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dFAmMSsaQPm5

4.The correct [IUPAC name of the following compound is:

IR
NN Y%

 §

"OH
CHNH,

A. 4-Aminomethyl-3-hydroxyclohex-5-ene-1-carboxylic acid
B. 2-Aminomethyl-5-carboxycyclohex-3-en-1-ol

C. 4-Aminomethyl-5-hydroxycyclohex-2-ene-1-carboxylic acid


https://dl.doubtnut.com/l/_1cR1Iu9fT8fE

D. 3-Hydroxy-4-aminomethylcyclohex-5-en-1-oic acid

Answer: C

o Watch Video Solution

5. IUPAC name of given compound is:

H—C—CHQ—ClH—C':N

o oy
A. 3-Carbonitrile-3-methyl butanal
B. 3-Formyl-2-methyl propane nitrile
C. 3-Cyanobutanal

D. 2-Methyl-4-oxobutane nitrile

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1cR1Iu9fT8fE
https://dl.doubtnut.com/l/_nZKcOEDa9KCv
https://dl.doubtnut.com/l/_BeCi2dxZyBFJ

6. The IUPAC name of the compound is:

? O
O

A. Propanoic anhydride
B. Dipropanoic anhydride
C. Ethoxy propanoic acid

D. 1-Oxopropyl propanoate

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BeCi2dxZyBFJ

7.The IUPAC name of the compound is:



https://dl.doubtnut.com/l/_hF6Bh71NadWx

A. ‘Cyclobutanedioic anhydride

B. Butanedicarboxylic anhydride

C. Cyclobutanedicarboxylic anhydride

D. Butanedioic anhydride

Answer: D

o Watch Video Solution

8. The correct IUP AC name of the following compound is:

o

I
CHy; — CH — C — O — CHj
|

CaHy
A. Methyl-2-ethylpropanoate
B. Methyl butane -2-carboxylate
C. Methyl-2-methylbutanoate

D. Methoxypentanone


https://dl.doubtnut.com/l/_hF6Bh71NadWx
https://dl.doubtnut.com/l/_ZZ5Mj61XcitP

Answer: C

o Watch Video Solution

9. IUPAC name of the compound

B’I"CHz — CH — CO — CH2 — CH2CH3 is

CONH,

A. 2-Bromomethyl-3-oxohexanamide

B. 1-Bromo-2-amido-3-oxohexane

C. 1-Bromo-2-amido-n-propylketone

D. 3-Bromo-2-proponyl-propanamide

Answer: A

o Watch Video Solution

Exercise-1 Part-2 Section(F)



https://dl.doubtnut.com/l/_ZZ5Mj61XcitP
https://dl.doubtnut.com/l/_8yVRWFcIx4sv
https://dl.doubtnut.com/l/_noZJfpTQ8NGp

1. The IUPAC name of the following compound is:

CHO

8r - ~OH

A. 5-Bromo-3-hydroxybenzenecarbaldehyde
B. 3-Bromo-5-formylphenol
C. 3-Bromo-5-hydroxybenzenecarbaldehyde

D. 1-Bromo-3-formyl-5-hydroxybenzene

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_noZJfpTQ8NGp
https://dl.doubtnut.com/l/_hD3Eh5rHg3jQ

2. IUPAC name of

Ci- C*)>A C—0

A. 4-Chlorophenyl benzoate

B. Phenyl-4-chlorobenzenecarboxylate.

C. Benzyl-4-chlorobenzenecarboxylate.

D. 4-Chloro diphenlcarboxylate

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hD3Eh5rHg3jQ

3. The correct IUPAC name of the compound.

k4 ; - . < 277
R B W S LU
P ., o~ 8 4 Yol T ~,
g ™~ /-/
\/ A, ‘g
3 K4 S §
K %
: :\ .'G N
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e
[T Vs
e < 0
R -’
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AN

A. N-Formyl-4-chlorobenzenamine

B. N-Formyl— 4-chloroaniline

C. N-(4-chlorophenyl)methanamide

D. N-(Parachlorophenyl)-N-formylaniline

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EszBUkAeGkkg

4. [UPAC name of the compound

COOC H,

COCI

A. 2-Chlorocarbonyl ethylbenzene carboxylate
B. 2-Carboxyethylbenzoyl chloride
C. Ethyl 2-(chlorocarbonyl)benzenecarboxylate

D. Ethyl 1-(chlorocarbonyl)benzenecarboxylate

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9MiRyZBn8zIx

5.The correct IUPAC name of the compound

L OOH o
O

I G
(™ ?i’ - -_\‘.
@ " .i

A. 2-Phenoxycarbonylbenzenecarboxylic acid
B. Phenyl-2-carboxybenecarboxylate
C. 2-Benzoyloxybenzenecarboxylic acid

D. 2-Benzyloxycarbonylbenzenecarboxylic acid

Answer: A

o Watch Video Solution

Exercise-1 Part-2 Section(G)


https://dl.doubtnut.com/l/_AosVUHe8OGWz
https://dl.doubtnut.com/l/_yjSXweCXUcGd

1. Isomers have essentially identical.

A. Structural formula

B. Chemical properties

C. Molecular formula

D. Physical properties

Answer: C

o View Text Solution

2. Compound with same molecular formula but different structure

formula are called:

A. lsomers

B. Isotopes

C.Isobars


https://dl.doubtnut.com/l/_yjSXweCXUcGd
https://dl.doubtnut.com/l/_X9oFAR675YYX

D. Isoelectric

Answer: A

o Watch Video Solution

3. What is the correct relationship between the following compounds?

CH; — CH, — C|H - CH, - CH;,CH; — CH, — CH, — CH, — CH,
|

CHg CH;y
A. Chain isomers

B. Position isomers

C. Functional isomers

D. Identical

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_X9oFAR675YYX
https://dl.doubtnut.com/l/_lLxT2E4VaZhI
https://dl.doubtnut.com/l/_UegZZLKFViQ5

4. What is the relation between 3-Ethylpentane and 3-Methylhexane?

A. Chain isomers

B. Position isomers

C. Functional isomers

D. Relation

Answer: A

° Watch Video Solution

5.CHs — CHy — (NH) — (CHO), CH; — CH — CHO

NH,

Which type of isomerism is observed between I and Il .

A. Chain isomers
B. Position isomers

C. Functional isomers


https://dl.doubtnut.com/l/_UegZZLKFViQ5
https://dl.doubtnut.com/l/_ILUxAhJWXQL7

D. Metamers

Answer: C

o Watch Video Solution

6. Molecular formula C4H1¢O represent

A. Two primary alcohol

B. One secondary alcohol

C. One tertiary alcohol

D. All of these

Answer: D

o Watch Video Solution

Exercise-1 Part-2 Section(H)


https://dl.doubtnut.com/l/_ILUxAhJWXQL7
https://dl.doubtnut.com/l/_X7U5FXm3sMYM

1. How many positional isomers are possible for dimethylcyclohexane?

A3

B.4

C.5

D.6

Answer: B

o Watch Video Solution

2. How many aromatic isomers are possible for trichlorobenzene
(CeH3Cl3)?

A 2

B.3

C.4


https://dl.doubtnut.com/l/_wsezc6AUTcDj
https://dl.doubtnut.com/l/_HesvDqICoZ6I

D.5

Answer: B

o Watch Video Solution

3. The number of ether isomers represented by formula CyH{,0 is

(only structral)

A 4

B.3

C.2

D.1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HesvDqICoZ6I
https://dl.doubtnut.com/l/_JaVIHK9twqgg

4. Total number of 2° amine isomers of CyH;;N would be (only
structural)

A 4

B.3

C.5

D.2

Answer: B

o Watch Video Solution

5. How many structural isomers of all the tertiary alcohols with

molecular formular formula Cs H140.

A.2

B.3


https://dl.doubtnut.com/l/_B2ypKWc3N3pA
https://dl.doubtnut.com/l/_HZbG5I8QXOQr

C.4

D.5

Answer: B

° Watch Video Solution

6. The number of structural isomers for Cs Hy are:

A.8

B.6

C.9

D.10

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_HZbG5I8QXOQr
https://dl.doubtnut.com/l/_Ui7FFqNDlzay
https://dl.doubtnut.com/l/_a5ti87qC1LCd

7. The number of acyclic isomers of C3 H;Cl are:

Al
B.2
C.3

D.4

Answer: C

o Watch Video Solution

8. The number of cyclic ketones of molecular formula C3H,O are:

A2
B.1
C.3

D.4


https://dl.doubtnut.com/l/_a5ti87qC1LCd
https://dl.doubtnut.com/l/_7AGSnPmyDaC9

Answer: B

o Watch Video Solution

9. The number of cyclic isomers of molecular formula C3H,Cl, are:

Al
B.2
C.3

D.4

Answer: B

o Watch Video Solution

10. The number of structural isomers of for CyHqC' are:

Al


https://dl.doubtnut.com/l/_7AGSnPmyDaC9
https://dl.doubtnut.com/l/_bugQBKre36py
https://dl.doubtnut.com/l/_J525D3PMjids

B.2

C.3

D.4

Answer: D

o Watch Video Solution

Exercise-2 Part-1

1. IUPAC name of the compound

CH,

\
CH30H20H20H2 — C]H — C|H — CHQ — C — CH3 is

CHg CHCHg3 CHg

CHz‘CHg
A. 2, 2, 5-Trimethyl-4-(1-methylpropl) nonane
B. 4, 8, 8Trimethyl-6-(1-methylpropl) nonane

C. 3, 6-Dimethyl-4-(1-methylene tertiary butyl) nonane


https://dl.doubtnut.com/l/_J525D3PMjids
https://dl.doubtnut.com/l/_gmgybidITrxa

D. 6, 6-Dimethyl-2-propyl-4-(1-methyylpropyl)heptane

Answer: A

o Watch Video Solution

2. In the structure of 4-Isoropyl-2, 4, 5-trimethylheptane, number of

1°,2° & 3° H's are respectively.

A. 18,54

B.214,3

C.184,3

D. 21,54

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gmgybidITrxa
https://dl.doubtnut.com/l/_KusgIZlEWtTi

3. The correct IUPAC

A. 1, 4-Diethyl-2-methyl-5-propylcyclohexane

B. 1, 4-Diethyl-5-methyl-2-propylcyclohexane

C. 2, 5-Diethyl-1-methyl-4-propylcyclohexane

D. 2, 5-Diethyl-4-methyl-1-propylcyclohexane

Answer: A

name

of

o Watch Video Solution



https://dl.doubtnut.com/l/_5dpNGrIk2Pmy

4. IUPAC nomenclature of the given organic
A. 5-Chloro 3, 3-dimethyl hexane
B. 4-Chloro-2-ethyl-2-methyl pentane
C. 2-Chloro-4-ethyl-4-methyl pentane

D. 2-Chloro-4, 4-dimenthyl hexane

Answer: D

compound

o Watch Video Solution



https://dl.doubtnut.com/l/_5dpNGrIk2Pmy
https://dl.doubtnut.com/l/_4jlJEqhAWuPu

5. The correcc IUPAC numbering in the compound

-
-



https://dl.doubtnut.com/l/_46W8WfYyj9cj

1
(B) i
4
B 5
3
4
\ 2
(C)
5 1
C. 6
6
5
1
(D)
4 2
D. 3
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_46W8WfYyj9cj

The correct

A. 1-Ethylidenecyclohex-2-ene

B. 3-Ethylidenecyclohex-1-ene

C. 2-Ethylidenecyclohex-1-ene

IUPAC

name

of


https://dl.doubtnut.com/l/_QXkvPllXQ6sM

D. 3-Ethenylcyclohex-1-ene

Answer: B

o Watch Video Solution

7. Correct IUP AC name of the following compound is

o NH,
|| |
HC -CH - CH - COOH
CO|OH
A. 2-Amino-3-Formyl butane-1, 4-dioic acid
B. 2-formyl-3-amino butane-1, 4-dioic acid

C. 3-Amino-2-formyl butane-1, 4-dioic acid

D. 2-Amino-3-carboxy-4-oxo butanoic acid

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QXkvPllXQ6sM
https://dl.doubtnut.com/l/_vtXE2bICLrnM
https://dl.doubtnut.com/l/_o0Gcj6OJixtI

8. The correct IUP AC name of the compound is:

Q O

NH; NR,

-

NH,

A.1, 2, 3-Triaminobutane-1, 3-dione
B. 2, 4-Diamino-3-oxobutanamide
C. 1, 3-Dioxobutane-1, 2, 4-triamine

D. 1, 3, 4-Triaminobutane-2, 4-dione

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_o0Gcj6OJixtI

9. IUPAC name of the following molecule is

3

._ .J "\a‘ V‘

L RYWAL NN Y,
SN \
At

Cawvany A
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A. 2-Bromobenzene-1,4-dioic acid
B. 3-Bromobenzene-1, 4-dicarboxylic acid

C. 2-Bromobenzene-1, 4-dicarboxylic acid


https://dl.doubtnut.com/l/_pvkZfSFDytD2

D. 3-Bromobenzene-1, 6-dicarboxylic acid

Answer: C

o Watch Video Solution

10. IUP AC name of picric acid is

A. 2,4, 6-Trinitrobenzene carboxylic acid

B. 2, 4-Dinitrobenzene carboxylic acid

C. 2, 4, 6-Trinitrophenol

D. 2, 4-Dinitrophenol

Answer: C

o Watch Video Solution

11. Which one of the compound is not isomers of others?


https://dl.doubtnut.com/l/_pvkZfSFDytD2
https://dl.doubtnut.com/l/_2FdcsPxhgHzb
https://dl.doubtnut.com/l/_ZJacanFiSsGI

Answer: D

° Watch Video Solution

12. What is the number of all (structurally isomeric) alkynes with

molecular formula Cg Hy.

A.6

B.7


https://dl.doubtnut.com/l/_ZJacanFiSsGI
https://dl.doubtnut.com/l/_TeCv8mR6Pc67

C.8

D.9

Answer: B

° Watch Video Solution

13. Number of structurally isomeric ether with molecular formula

C5H12O.

A4

B.5

C.6

D.7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TeCv8mR6Pc67
https://dl.doubtnut.com/l/_MgWuvzU5ogWc

14. How many structural isomers are possible when one of the

hydrogen is replaced by a chlorine atom in anthracene?

A3
B.7
C.4

D.6

Answer: A

o Watch Video Solution

15. The number of structurally isomerc tribromo derivatives possible

for benzene are:

A2

B.3


https://dl.doubtnut.com/l/_TPPSTKoq3aG5
https://dl.doubtnut.com/l/_t9xONFjY0qwq

C.4

D.5

Answer: B

° Watch Video Solution

Exercise-2 Part-2

1. A hydrocarbon (R) has six membered ring in which there is no

unsaturation. Two alkyl groups are attached to the ring adjacent to
each other. One group has 3 carbon atoms with branching at 1°
carbon atom of chain and another has 4 carbon atoms. The larger alkyl
group has main chain of three carbon atoms of which second carbon is

substituted. Number of 2° carbons in R are:

o Watch Video Solution



https://dl.doubtnut.com/l/_t9xONFjY0qwq
https://dl.doubtnut.com/l/_PsIgJyMoKNOr
https://dl.doubtnut.com/l/_hX6Dlpvyxp9G

2. Number of correct names in the given substituents are:

L, Ci-CH,
(2) L (b) ~CH
“CH, \'CH;
Ethylmethyl 1-Methylpropyl
(a) S1NYIMERY € )
—CH — CH — CHj, 2, 3-Dimethylpropyl ,
on, oy
(d)— CHy — (J|H — C’lH — CHs; , 2,3Dimethylbutyl , (e)
CHg CHy

= CH — CHj , Ethylidene (f)—C|H = CH> , 2-Methylethenyl , (g)

CHj

—C =CH Ethynyl , (h)—CHy — CH = CHy , 2-Propenyl , (i)

—CH; — C = CH , Prop-1-ynyl

° Watch Video Solution

3. The number of compound(s) in which carbon atom of functional

group can be counted in main chain is/are:

COOH COOH
(a) NCMCN H\/COOH © P

CN (b) HOOC COoH
COOH
COOH
COOH J A
! GOk e
(1) @i COOH (e)@ NP



https://dl.doubtnut.com/l/_hX6Dlpvyxp9G
https://dl.doubtnut.com/l/_nq85Fp2NF8nv

| P Watch Video Solution

4. What is the degree of unsaturation in a compound with molecular

formula CoHgN4?

° Watch Video Solution

5. The no. of isomeric pair with correct relationship specified are:

Rr

\,

() Moo Jf’w\ V —
N > (:\\ voa N

position isomers

Metamers

Functional isomere

Position isomers

Position isomers

Functional isomers

Functional isomers

o View Text Solution



https://dl.doubtnut.com/l/_nq85Fp2NF8nv
https://dl.doubtnut.com/l/_kS7yaBn9MIrW
https://dl.doubtnut.com/l/_Vq4CkqrVbvy6

6. How many structurally isomeric dibromo butanes are possible.

o Watch Video Solution

7. The number of acyclic structural isomers of Cys Hyj.

o Watch Video Solution

8. How many number of all structurally isomeric dienes with molecular

formula Cs Hg are possible:

° Watch Video Solution

9. How many structural alkenes of formula Co FCIBr]I are possible:

o Watch Video Solution



https://dl.doubtnut.com/l/_Vq4CkqrVbvy6
https://dl.doubtnut.com/l/_A7FL01dfCDG9
https://dl.doubtnut.com/l/_9YVZfXanQgdD
https://dl.doubtnut.com/l/_1oWdVjEuEStU
https://dl.doubtnut.com/l/_UG2UPuJYGJpU

10. How many structural isomers containing a benzene ring are

possible for CsHy

° Watch Video Solution

11. How many tetramethyl benzene are possible:

o Watch Video Solution

12. How many structurally isomeric cyclic isomers of molecular formula

C3H7; N are possible:

o Watch Video Solution

13. The number of structurally isomeric ketones with molecular formula

Csm,,0 are:

| o wAr_as_L vl e~_ .0


https://dl.doubtnut.com/l/_HQOtuK1m5aBJ
https://dl.doubtnut.com/l/_v6mLXp5MYE3p
https://dl.doubtnut.com/l/_oclmoK4Ni9YR
https://dl.doubtnut.com/l/_NQ826un7bxCe

L vvdilll VIUCU o0IuULivIl J

14. The number of structurally isomeric esters with molecular formula

Csm,,0 are.

o Watch Video Solution

Exercise-2 Part-3

1. All the members of a homologus series have same

A. Functional group
B. Empirical formula
C. General formula

D. All of these

Answer: A::C

| o WMiab .\ nNtdaa Col.iblia



https://dl.doubtnut.com/l/_NQ826un7bxCe
https://dl.doubtnut.com/l/_Q09D7F9CMLLh
https://dl.doubtnut.com/l/_0r9v6Tc71YRB

L ¥Yvdilll VIUCUV JVIULIVII

2. The pair of compounds having the same general formula.

,//‘
(A) c’,/ﬁf, and ¢ /
A Xy \
B (B)Q} ««««««« <. jand

(D) and H—C=C—C=C—H
D.

Answer: A::B::D

o Watch Video Solution

3. Which of the following IUP AC names are correct.


https://dl.doubtnut.com/l/_0r9v6Tc71YRB
https://dl.doubtnut.com/l/_0JcYN0Wx2jDE
https://dl.doubtnut.com/l/_KXXH4GOFdrdV

(A)

3-Ethyl-1, 1-dimethylcycohexane

N

1-Ethyl-3-methyl-5-propylcyclohexane

Cl

Br

2-Bromo-1-chloro-4-fluorocyclohexane

1-Bromo-4-chloro-3-fluorocyclohexane


https://dl.doubtnut.com/l/_KXXH4GOFdrdV

Answer: A::B::C

o Watch Video Solution

4. The compound with only primary hydrogen atoms is/are:

A. Hexamethylcyclopropane

B. Neohexane

C. Tetramethylbutane

D. Hexamethylbenzene

Answer: A::C::D

o Watch Video Solution

5. Which of the following is/are incorrect IUPAC name/ (s):

A.CH; — C — CH — (C'Hj3, 2-Methylbutan-3-one
|

S oy


https://dl.doubtnut.com/l/_KXXH4GOFdrdV
https://dl.doubtnut.com/l/_53nVwRy7Wadp
https://dl.doubtnut.com/l/_SSNxaU6dsmOz

HC=(C-CH-CH=CH

B. | , 3-Ethenylpent-1-en-4-yne
HC=CH,
OH
Ao
ol 1
C. T CHCHNH, , 3(2-Aminoethyl)-2methylcyclohexan-1-ol

D.CH; — CH — C — CH — OH , 4-Methyl-3-oxopentan-2-ol
| |l |

CHy 0 CH;

Answer: A::B::D

o Watch Video Solution

6. Which of the following IUP AC names are correct.

o
A WA emenanccaoamiss
. /
B ®) L/ ]
. ~
o
C | : " ca
. o
D -
.

Answer: A::C::D


https://dl.doubtnut.com/l/_SSNxaU6dsmOz
https://dl.doubtnut.com/l/_5mrk7WCy96G4

o View Text Solution

7. Which of the following IUP AC names are incorrect.

i
"
(A) @/&o
A. NO;
Q
1
S -ocw,

(C) CHi—C—CO0OO0OC,H,

@NO,

Answer: C::D

o View Text Solution



https://dl.doubtnut.com/l/_5mrk7WCy96G4
https://dl.doubtnut.com/l/_ae1YK2qHsehT

8. Which of the following is the correct relationship?

NH, e N,
(,H;\!/‘\ ~CH on.- G- N\”}‘i. / ;\w ~ NHTH,
b .
CH, 7 TCH, \\ N
i i ii / . iy

A.1 & Il are funtional isomers.

B. Il & IV are metamers.

C.1 & IV are position isomers.

D.1 & Il are chain isomers.

Answer: A::B::D

o View Text Solution

9. Which of the following are functional isomers of methyl ethanoate?

A CH; — CH, — COOH


https://dl.doubtnut.com/l/_GQfQMSBnhHok
https://dl.doubtnut.com/l/_miYc32RWmRXZ

I
CCH;—O—CH,—C—H

o

|
D.CH, — C — CH;
|

OH

Answer: A::B::C::D

° Watch Video Solution

10. Which of the following can be the isomer(s) of Cg H3O:


https://dl.doubtnut.com/l/_miYc32RWmRXZ
https://dl.doubtnut.com/l/_oznVHvRp9eWS

Answer: B::C::D

o View Text Solution

Exercise-2 Part-4


https://dl.doubtnut.com/l/_oznVHvRp9eWS
https://dl.doubtnut.com/l/_0Q5HphChxb6W

1. There are three isomeric compounds P, (@, R with molecular
formula C4HgOs.Compound P is a saturated hydroxy carboxylic
acid.Compound @ is a symmetrical anhydride while R is an aldehydic
ester.

Which of the following is P?

@]
f”’//\\fu\\ OH
A OH

OH O

OH

COOH

;

OH
HO ~_ ;COOH
D.

Answer: D

- Y



https://dl.doubtnut.com/l/_0Q5HphChxb6W

L T VIEW ICXL 50IUtion )|

2. There are three isomeric compounds P, (Q, R with molecular
formula CyHgO3.Compound P is a saturated hydroxy carboxylic
acid.Compound @ is a symmetrical anhydride while R is an aldehydic
ester.

Which of the following is the metamer of Q?
0 0
A.CHg—H—O—g’—CH?,
0 0
B.H_‘CL_O_H_CHQ_CH:;
0 0
C.H—‘Cl’—O—CH2—‘C|’—CH3
o o

T
D.CH; — O — C — C — OCHj

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0Q5HphChxb6W
https://dl.doubtnut.com/l/_ZWAhdUzf7nCz

Exercise-3 Part-1

1. Write IUP AC name of the following

CH,CHO

OH

o Watch Video Solution



https://dl.doubtnut.com/l/_KSFuUyCXwF1r

2. Write IUP AC name of the following

COOH
l

N

o Watch Video Solution

3. Write I[UPAC name of the following

SO,H


https://dl.doubtnut.com/l/_xiwYgw3M4gi6
https://dl.doubtnut.com/l/_89CeeCNpk4Hl

CH,

° Watch Video Solution



https://dl.doubtnut.com/l/_89CeeCNpk4Hl
https://dl.doubtnut.com/l/_O1TACuY6okv7

4.The IUPAC name of C_(6)H_(5)COCI  is:

A. Benzoyl chloride

B. Benzene chloro ketone

C. Benzene carbonyl choride

D. Chloro phenyl ketone

Answer: C

o Watch Video Solution

5.The number of structural isomers for CgH14 is :

A3

B.4

C.5

D.6


https://dl.doubtnut.com/l/_O1TACuY6okv7
https://dl.doubtnut.com/l/_ic09qkhw3sSb

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ic09qkhw3sSb

6. The IUP AC name of the following compound is:

¢

j
P
| X
¥ i
3¢

A. 4-Bromo-3-cyanophenol

B. 2-Bromo-5-hydroxybenzonitrile


https://dl.doubtnut.com/l/_m2GChNifWr4x

C. 2-Cyano-4-hydroxybromobenzene

D. 6-Bromo-3-hydroxybenzonitrile

Answer: B

° Watch Video Solution

7. The total number of cyclic isomers possible for a hydrocarbon with

the molecular formula C4Hg is ...

o Watch Video Solution

8.1n allene (C3Hy) the type(s) of hybridisation of the carbon atoms is

(are):

A. spand sp®

B. spand sp2


https://dl.doubtnut.com/l/_m2GChNifWr4x
https://dl.doubtnut.com/l/_PMnhMrRoNSh4
https://dl.doubtnut.com/l/_vvAg1s9WkBol

C.only sp®

D. sp? and sp®

Answer: B

° Watch Video Solution

9. The carboxyl functional group( — COOH) is present in:

A. picric acid
B. barbituric acid
C. ascorbic acid

D. aspirin

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_vvAg1s9WkBol
https://dl.doubtnut.com/l/_l5yspBQzQy1H

Exercise-3 Part-2

1. Which of the following compound has wrong IUPAC name?

A.CH; — CHy, — CHy — COO — CH,CH3 — Ethyl butanoate

B. CHg —CH -CH, — CHO — 3-Methylbutana|
|

CHg

C.CH3; — CH — CH — CH3 — 2-Methyl-3-butanol
| \

OH CH;
o

[
D.CH3; — CH — C — CHy — CHy — 2-Methyl-3-pentanone
|

CHg

Answer: C

o Watch Video Solution

2. The general formula Cy, H2,0> could be for open chain

A. diketones

B. carboxylic acids


https://dl.doubtnut.com/l/_ofi2R996TVEW
https://dl.doubtnut.com/l/_elqgHlcjwOfE

C.diots

D. dialdehydes.

Answer: B

° Watch Video Solution

3.The IUPAC name of the compound

A. 3, 3-dimethyl-1-hydroxy cyclohexane


https://dl.doubtnut.com/l/_elqgHlcjwOfE
https://dl.doubtnut.com/l/_WVLJqgu822hV

B. 1, 1-dimethyl-3-hydroxy cyclohexane

C. 3, 3-dimethyl-1-cyclohexanol

D. 1, 1I-dimethyl-3-cyclohexanol

Answer: C

o Watch Video Solution

4.The IUPAC name of the compound shown below isle ,

A. 2-Bromo-6-chlorocyclohex-1-ene
B. 6-Bromo-2-chlorocyclohexene
C. 3-Bromo-1-chlorocyclohex-1-ene

D. 1-Bromo-3-chlorocyclohexene

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WVLJqgu822hV
https://dl.doubtnut.com/l/_3ygu7ykM1IfJ

5. The IUPAC name of

NN

A. 5, 5-Diethyl-4, 4-dimethylpentane
B. 3-Ethyl-4, 4-dimethylheptane
C.1, 1-Diethyl-2, 2-dimethylpentane

D. 4, 4-Dimethyl-5, 5-diethylpentane

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_X0G0C28PkYCl

6. The correct decreasing order of priority for the functional group of

organic compounds in the I[UPAC system of nomenclature is

A.—SO3H, — COOH, — CONH,, — CHO

B.-CHO, — COOH, — SO3sH, — CONH,,

C.—~CONH,, — CHO, — SOsH, — COOH

D.—-COOH, — SO3sH, — CONH,, — CHO

Answer: D

o Watch Video Solution

7.The IUPAC name of neopentane is

A. 2, 2-Dimethylpropane

B. 2-methylpropane

C. 2, 2-dimethylbutane


https://dl.doubtnut.com/l/_KhQh7wTTuRA4
https://dl.doubtnut.com/l/_T7x0MfnoKSj5

D. 2-methylbutane

Answer: A

o Watch Video Solution

8. Aspiring is know as:

A. Acetyl salicylic acid

B. Phenyl salicylate

C. Acetyl salicylate

D. Methyl salicylic acid

Answer: A

o Watch Video Solution

Advanced Level Problems Part-1: Practice test-1



https://dl.doubtnut.com/l/_T7x0MfnoKSj5
https://dl.doubtnut.com/l/_Tm6WHsIAFOUj

1.How many 7 and o bonds are in the given compound?

HC=C-CH =CH,

A. 37 and 60 bonds

B. 37 and 7o bonds

C.2m and 7o bonds

D. 4w and 8¢ bonds

Answer: B

o Watch Video Solution

2. How many 2° and 3° carbon atoms are present in the given

compound respectively?


https://dl.doubtnut.com/l/_QAs9yezXSmPZ
https://dl.doubtnut.com/l/_W4n1RZ8z5Qdm

-
(‘S
P
e 6.‘
leaa 22 .-.vvsi

x)‘l() YA g A
S" 3
e YO
‘A-F

A.9 &4

B.10&3

C9&3

D.6&1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_W4n1RZ8z5Qdm

1 2 3 4 5 6
3. In the organic compound CHy = CH — CHy — CHy, — C =CH

the pair of hybridised orbitals in the formation of : Cy — Cj

A. sp — .5102
B.sp — sp3
C. .s*p2 — sp3
D. sp3 — sp3
Answer: C

° Watch Video Solution

4. Which of the following is unsaturated hydrocarbon?

N


https://dl.doubtnut.com/l/_5QhjyRgAWOL5
https://dl.doubtnut.com/l/_qbTK30dRrwvr

(2) 7 T oy

B

D(Ar}/,,//’\%,’/

Answer: D

o Watch Video Solution

5.The correct IUPAC name os the following compound is

s s
s ‘,.J

1 -
i

e

H
H,

CH ~ CH, - CH,

'VH CH,

|
CH,

A. 4-Ethyl-3, 5-dimethylhexane



https://dl.doubtnut.com/l/_qbTK30dRrwvr
https://dl.doubtnut.com/l/_e0VdQLMOxGml

B. 2, 4-Dimethyl-3-ethylhexane

C. 3-Ethyl-2, 4-dimethylhexane

D. 3-Isopropyl-4-methylhexane

Answer: D

o Watch Video Solution

6. Which is the structure of pyrrole?


https://dl.doubtnut.com/l/_e0VdQLMOxGml
https://dl.doubtnut.com/l/_GyjoalUAbODV

f 1\
AN
L WY
4'/
M
B D

Answer: A

° Watch Video Solution

7.Which IUPAC name is incorrect among the following compounds?



https://dl.doubtnut.com/l/_GyjoalUAbODV
https://dl.doubtnut.com/l/_q6girxhLxPgZ

A.CH; — CH = CH — CH, — C1I, 1-Chlorobut-2-eye
B.HC = C = CH, — CHy — Br, 1-Bromobut-3-yne

C.CH; — CH = CH — CH = CH,, Penta-1, 3-diene
Br Cl

| |
D.CH; — CH — CHy — C' — CHjs, 4-Bromo-2, 2-dichloropentane
|

Cl

Answer: B

o Watch Video Solution

8. Which of the following represent incorrect numbering.

2 4
) 1IN
S RLE
A. )
(2) "~
B. B
g


https://dl.doubtnut.com/l/_q6girxhLxPgZ
https://dl.doubtnut.com/l/_C4sRcO3yXDMK

5 4) f/’\:{:‘\\\/

Answer: B

° Watch Video Solution

9.The IUPAC name of the compound shown below is

C

|

~

\


https://dl.doubtnut.com/l/_C4sRcO3yXDMK
https://dl.doubtnut.com/l/_tKEqODT0O0iA

A. 2-Bromo-6-chlorocyclohex-1-ene

B. 6-Bromo-2-chlorocyclohexene

C. 3-Bromo-1-chlorocyclohex-1-ene

D. 1-Bromo-3-chlorocyclohexene

Answer: C

o Watch Video Solution

10. The IUPAC name
CH3 — C(CH3)2 - CHQ — CH = CHQ is
A. 2, 2-Dimethylpent-4-ene
B. 2, 2-Dimethyl-2-pentene
C.1, 1, 1-Trimethylbut-3-ene

D. 4, 4-Dimethylpent-1-ene

of

compound


https://dl.doubtnut.com/l/_tKEqODT0O0iA
https://dl.doubtnut.com/l/_twLRzRaYCFJu

Answer: D

o Watch Video Solution

11. What is the structure of 4-Methylhex-5-en-3-ol.

(1)

0
£

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_twLRzRaYCFJu
https://dl.doubtnut.com/l/_pN8ZkehScA2r
https://dl.doubtnut.com/l/_6ZOokm6uRxyT

12. A compound having straight chain of five carbon atoms has one
ketone group and two methyl group on different-defferent carbon
atoms. The IUP AC name of the compound is:

A. 2, 4-Dimethyl-3-oxopentane

B. 2, 4-Dimethylpentan-3-one

C. 3, 4-Dimethyl-2-oxopentane

D. 3, 3-Dimethylpentan-2-one

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6ZOokm6uRxyT

13. What is the IUPAC name

Cl

A. 5-Chloro-3-hydroxybenzenecarbonyl chloride
B. 3-Hydroxy-5-chlorobenzenecarbonyl chloride
C. 3-Chloro-5-hydroxybenzenecarbonyl chloride

D. 1-Chlorocarbonyl-3-chlorobenzene-1-ol

Answer: C

of

o Watch Video Solution



https://dl.doubtnut.com/l/_u175N7OqOCxM

14. What is the IUPAC name of compound is:

COO

Br

A. 3-Amino-6-bromocyclohexane-1-carboxylic acid
B. 2-Bromo-5-aminocychexane-1-carboxylic acid

C. 5-Amino-2-bromocyclohexane-1-carboxylic acid

D. 4-Bromo-5-carboxycyclohexanamine

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_u175N7OqOCxM
https://dl.doubtnut.com/l/_4A2APY200mg8

15.The IUPAC name of CHy — CH> — ]‘V — CH, — CHj is:

CHg

A. N-Methyl-N-ethyl ethanamine

B. Diethyl methanamine

C. N-Ethyl-N-methyl ethanamine

D. Methyl diethyl ethanamine

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4A2APY200mg8
https://dl.doubtnut.com/l/_Nj3HaxHbfNer

16. In the given formula G is an unknown group.

tr. r“
o N

i ,'j"- A
A'\ A
/ . /{ i~
e > N,
¥ / )

What will be the group G,which can change the word root (parent
carbon chain length) of above structure?

A.—CH = CH,

B. —Cl

C.—CH, — CH, — CH;4

D.-COOH

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9GGGBHNUptVQ

17. IUPAC name

A. N-Deutero-N-formylbenzenamine

B. N-Phenylamino-IN-deuteromethanal

C. N-Deutero-N-phenylmethanamide

D. N-Deuterobenzene carboxamide

Answer: C

of

° Watch Video Solution



https://dl.doubtnut.com/l/_9GGGBHNUptVQ
https://dl.doubtnut.com/l/_7wVfBEF3V85s

18. Correct IUP AC name of given ester is:

CH; — CH — C — O — CyH;
|

[
Br o
A. Ethyl 2-bromopropanoate
B. 2-Bromoethylpropanoate

C. Ethyl-1-bromoethanoate

D. 2-Bromo ethoxyethanecarboxylate

Answer: A

o Watch Video Solution

19. Relation between Ethyl benzenecarboxylate and phenyl propanoate

is:

A. Metamers

B. Functional isomers


https://dl.doubtnut.com/l/_deQt1eRy2LVI
https://dl.doubtnut.com/l/_iBQOijfQIbfC

C. Chain isomers

D. Homologues

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_iBQOijfQIbfC

20. The correct IUPAC name of the

SR PO
Ly \
(SR
1
'
;o e e
V*x "“\, _ 5"‘,‘; f' "
7 . >
v‘"to Q"C\,_ ('\'- ﬁ,"ﬁ M \5“’1‘5,\‘
( "-( -‘LV 2
x - Re- ;
N :
-l :
| ;
b §
;Q, /f ’5 .
4:-\ ‘:1'/ o< ! } c_\
> v » A
N, MA‘/
2
3
’

GCH,

A. 4-Methoxy-2-nitrobenzaldehyde
B. 4-Formyl-3-nitro anisole
C. 4-Methoxy-6-nitrobenzaldehyde

D. 2-Formyl-5-methoxy nitrobenzene

compound


https://dl.doubtnut.com/l/_KjjTGPgcfLYZ

Answer: A

o Watch Video Solution

21. Which of the following pair of compounds is not functional

isomers?

(1) ’/\\i/’ and <o N
A. Ot

LT ~
S

8 (2) 31 m_ﬂ_j and AN

: O
AOH and 7

C (3) ,oé\\/

-~

SN
@Ay ™ 6
. e \O

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KjjTGPgcfLYZ
https://dl.doubtnut.com/l/_Xakjnohq3c6v

X

and

--,.
{7
!

N,/ ’
22. are
related as:
A. Functional Isomers
B. Position isomers
C. Chain isomers

D. Metamers

Answer: A

o View Text Solution

23. Which of the following pairs of structures do not represent

isomers?


https://dl.doubtnut.com/l/_XAIMyuNqzgKL
https://dl.doubtnut.com/l/_5KL0wB13zWtw

Answer: D

o Watch Video Solution

24. Total number of structural isomers possible from molecular

formula Cg H1g that contain 7 carbons in the parent chain are:


https://dl.doubtnut.com/l/_5KL0wB13zWtw
https://dl.doubtnut.com/l/_MnbETk0ltXjE

A3

B.4

C.5

D.6

Answer: A

° Watch Video Solution

25. Total number of position isomers of trimethyl cyclohexane are:

A5

B.6

C.7

D.8

Answer: B

[ o


https://dl.doubtnut.com/l/_MnbETk0ltXjE
https://dl.doubtnut.com/l/_svXZCcYJodHS

I & Watch Video Solution ]

26. How many 1° amines are possible with molecular formula C4H1 N

(only structural isomers)

A3

B.4

C.5

D.6

Answer: B

o Watch Video Solution

27. Hybridisation of carbon atoms present in the smallest ester are:

A. Al sp®

B. All sp?


https://dl.doubtnut.com/l/_svXZCcYJodHS
https://dl.doubtnut.com/l/_84a9yCJYgW1h
https://dl.doubtnut.com/l/_HcfPjTYOwo1t

C. sp2 and sp3

D. sp? and sp

Answer: C

° Watch Video Solution

28.The number of metamers of the compound with molecular formula

CsHq50 is/are:

Al
B.3
C.8

D.6

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HcfPjTYOwo1t
https://dl.doubtnut.com/l/_1596twiKA6l3

29. How many tetriary alcohols of formula C5 H1,0 are possible ?

Al

B.2

C.3

D.4

Answer: A

o Watch Video Solution

Advanced Level Problems Part-2 : Practice test-2

1. How many position isomers are possible for chlorophenol?

A2

B.3


https://dl.doubtnut.com/l/_VSYT6PhUu8z2
https://dl.doubtnut.com/l/_Z0yAHaX7Khtk

C.4

D.5

Answer: B

° Watch Video Solution

2. IUPAC name

of


https://dl.doubtnut.com/l/_Z0yAHaX7Khtk
https://dl.doubtnut.com/l/_ryCabNuAKWGa

A. 5-ethenylcyclopenta-1, 3-diene

B. 3-ethenylcyclopenta-1, 4-diene

C. l-ethenylcyclopenta-2, 4-diene

D. 2-ethenylcyclopenta-1, 3-diene

Answer: A

o Watch Video Solution

3. How many carboxylic acid structure isomers are possible with

CsH190, ?

A3

B.4

C.5

D.8


https://dl.doubtnut.com/l/_ryCabNuAKWGa
https://dl.doubtnut.com/l/_mlsKvwfeKlV1

Answer: B

o Watch Video Solution

4. Which of the following is correct IUPAC name ?

A. 2-Bromo cyclohex-5-ene carbaldehyde

B. Ethyl-2-vinyl pentanoate

C. 5-Bromo-3-chlorohept-3-ene

D. 2-Ethenylhexa-1, 5-diene

Answer: C

o Watch Video Solution

5. When X group is replaced by —C = N, then the IUPAC name of

the compound below is:


https://dl.doubtnut.com/l/_mlsKvwfeKlV1
https://dl.doubtnut.com/l/_QQt6bkMkqP0e
https://dl.doubtnut.com/l/_xnmLQtalf9AO

WY ‘.
(f;') \t‘,.
A ~
- *.\.\ »
-
)
-
3
3
<
¢
\-
X
v B
- N

A. 2-Methylpentane-3-nitrile

B. 3-Cyano-2-methylpentane

C. 2-Ethyl-3-methylbutanenitrile

D. 2-Methylpentane-3-carbonitrile

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xnmLQtalf9AO

6. Correct IUPAC name of following compound is:

O
OHC

H,N
0

A. 2-Amino-3-formyl butane-1, 4-dioic anhydride
B. 3-Amino-2-formyl butane-1, 4-dioic anhydride
C. 3-Amino-2-oxobutane-1, 4-dioic anhydride

D. 2-Formyl-3-amino butane-1, 4-dioic anhydride

Answer: A

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_KGblwjh6WGbb

7. Me-O-C- Me end Et -O-CH=0 are:

A. Functional Isomers

B. Metamers

C. Positional isomers

D. Chain isomers

Answer: B

o Watch Video Solution

8. Number of structurally isomeric carbonyl compounds possible with

molecular formula C5H1¢O are:

A5

B.6


https://dl.doubtnut.com/l/_KGblwjh6WGbb
https://dl.doubtnut.com/l/_DFdpmdOj2MgV
https://dl.doubtnut.com/l/_FafV7apwBZvl

C.7

D.8

Answer: C

° Watch Video Solution

9. Which of the following statements are incorrect for aniline.

A. Compound is heterocyclic hydrocarbon

B. Number of o bonds are 8

C. Degree of unsaturation of the compound is 3

D. It contains functional group amine

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_FafV7apwBZvl
https://dl.doubtnut.com/l/_aHerWfXE6Ify
https://dl.doubtnut.com/l/_uEh8n0c1gl2K

10. Select correct IUPAC name

A. Methane-1, 1, 1, 1-tetracarboxylic acid

B. 5-Carbonyl-heptane-1, 7-dioic acid

C. 2-Chloro ethanoyl chloride

D. 1-Bromo-3-fluoro-4-methyl cyclohexane

Answer: A::C

° Watch Video Solution

11. Which of the following is/are incorrect IUPAC name.

A. 4-Chloro-3-methyl cyclopentanol

B. 1-Amino-3-bromohexan-1-one

C. 4-chloro-3-methylcyclohexane carboxylic acid

D. 3-Bromo-1—methylhexan — 1-ol


https://dl.doubtnut.com/l/_uEh8n0c1gl2K
https://dl.doubtnut.com/l/_0la3GCqHTS6A

Answer: A::B::D

o Watch Video Solution

12. Which of the following represent correct pair of homologous ?

L / EN

(A § ¢ AN
AN

B.Me — OH & MGCHQ - CHQOH
o o

|| [
CH-C-0O-CHy;&CH; —C -0 —CHj;

7
(D) CHa—CHz‘NHz& CH,-CH.-N -,

Answer: B::C

o Watch Video Solution

13. Which of the following is/are correct statement (s):


https://dl.doubtnut.com/l/_0la3GCqHTS6A
https://dl.doubtnut.com/l/_5xgBiD9sWvz5
https://dl.doubtnut.com/l/_YqfoUUCP1ulC

3
B ®) L & v postonisomers o sacn over
. "

& i arechanisomers toeach othet
P

C ci o

Ao e metamers of cachoter
D. ©-to

Answer: A::B::D

o Watch Video Solution

14. Which of the following is/are correct statement (s):

A.The number of structural isomers for molecular formula C3Hg

are 2

B. The number of structural isomers for molecular formula C5Hq,

are 3


https://dl.doubtnut.com/l/_YqfoUUCP1ulC
https://dl.doubtnut.com/l/_ECoW9bRFLs60

C.The number of structural isomers for molecular formula CsHq4

are b

D.The number of benzene ring containing structral isomers for

molecular formula CgH,BrCl are 4

Answer: B::C

° Watch Video Solution

15. Number of functional group present in the following compounds

are:
R T
"Y\ /,L )KNW“
) ® . . ®
R O
e ©

o Watch Video Solution



https://dl.doubtnut.com/l/_ECoW9bRFLs60
https://dl.doubtnut.com/l/_wyj61VIA6RyC

16. The no. of amine(s) with correct [IUPAC name is/are

/ (6)/\52} SO\
" e S, .
a - b { /
' \O\ ~

NAN-Dimethyl-2-methylethanamine 2-Methylpropanamine N—Ethyl-N—Pheny\benzenam’ma
ol
NN

[N

(e)

. Cn
3.4,4-Trimethylpentane-3-amine N-Propyl-2-methylethanamine
o " ‘//\/
mu ) @ NN

NHCH,CH, '

3-Ethylamino-2-methylcyclohexan-1-ol (2-Methyl) N-ethyl-N-isopropyl propanamine

° View Text Solution

17. The no. of compound with correct IUP AC name is/are:

N [SRORN
/
\ (b)
N N it
2-Carboxyphenol 3-E!hyl-4~chIo:(Jr,(\J-5-hydro><\/be"‘z'3necarbOr e
NO.
i H
~COOH ( ?
/ (c) \C)) { r/\
f ~ L@ Ok
CHG \( GCH,
NO,
3-Formyl-5-nitrobenzenecarboxylic acid 1-Hydroxy-3-methoxy-4-nitrobenzene
CNo, QOC\
P ,/'\ OH Me Me
QJ O
(e) L% ® @\
‘ CHy \
NH, ‘ oh¢ Ve
4-Amino-1-nitrobenzene 3-Methylphenol 2,4,6-Trimethy\benzenecarbon|ycm

o View Text Solution



https://dl.doubtnut.com/l/_wz9eEL16920W
https://dl.doubtnut.com/l/_Ke3aW65CVEiL

18. How many alkynes isomers are dormed with molecular formula

C,H;s?

° Watch Video Solution

19. Then number of structurally isomeric compound(s) possible with
molecular formula CgH;g containing 5 carbons in main chain having

methyl group(s) as side chain are

° Watch Video Solution

20. The number of possible alkynes (strucutral only) for the compound

having molecular formula C3FCIBrL is:

o Watch Video Solution



https://dl.doubtnut.com/l/_9Zarw7k0SIKf
https://dl.doubtnut.com/l/_MvjK7HHSC89F
https://dl.doubtnut.com/l/_xUB6zBTMFhby

21. Compounds having same molecular formula but different
connectivity of atoms or groups are called structure isomers. Structrue
isomers are futher classify according to their dissimilarities.
Which is not the isomer of butanoic acid?

A. 3-Hydroxybutanal

B. Ethyl ethanoate

C. 2-Methylpropanoic acid

D. Butane-2, 3-diol

Answer: D

o Watch Video Solution

22. Compounds having same molecular formula but different
connectivity of atoms or groups are called structure isomers. Structrue

isomers are futher classify according to their dissimilarities.


https://dl.doubtnut.com/l/_dnb3e6KOWg7q
https://dl.doubtnut.com/l/_UDeCzCrrv1D0

In the following skelton Z can be, if the molecular formula is C5 H1(O>:

CH; — CH, — C|H — CH,

Z

(i)A carboxylic acid , (ii)An ester
(iii)Hydroxyaldehyde , (iv)Alkanediol
Al &ii
B.iii & iv
C.i&iv

D. ii " iii

Answer: A

° Watch Video Solution

Advanced Level Problems Part-3

1. How many structural isomers can be obtained by the replacment of

one hydrogen atom of propene with chlorine?


https://dl.doubtnut.com/l/_UDeCzCrrv1D0
https://dl.doubtnut.com/l/_AaZIoMp0cjWA

A4

B.3

C.2

D.5

Answer: B

° Watch Video Solution

2.The IUPAC name of CHy = CHCN is:

A. Cyanoethene

B. Vinyl cyanide

C. Ethenenitrile

D. 2-Propenitrile

Answer: D

[ o


https://dl.doubtnut.com/l/_AaZIoMp0cjWA
https://dl.doubtnut.com/l/_YRX0kTRa2hCl

I & Watch Video Solution

3. The number of isomers of CgHy4 is

A 6

B.5

C.4

D.7

Answer: B

o Watch Video Solution

4.The compound which pepresents an unsaturated hydrocarbon is:

ACH; —C=N

B.CH; — CH = CH,


https://dl.doubtnut.com/l/_YRX0kTRa2hCl
https://dl.doubtnut.com/l/_DtJhh7iMa0gn
https://dl.doubtnut.com/l/_J4oQfKS4xlY7

D. All of these

Answer: B

° Watch Video Solution

5. The number of possible primary alcohols with the molecular

C4H100 is:

Al
B.2
C.3

D.4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_J4oQfKS4xlY7
https://dl.doubtnut.com/l/_UThOw1ZeZ0S0

6. The IUPAC name of HOCH,CH = C(CHj), is:

A. 2-Methyl-2-buten 4-ol
B. 3-Methyl-2-buten 1-ol
C. 2-Methyl-2-butanol

D. 3-Methyl-2-butenol

Answer: B

o Watch Video Solution

7. The compound 2-Chloro-3-methyl-1-butanol has the following
formula
A.CH;CH(CH3)CHCICH,OH
B.CH;CHOHCH(CH;)CH,CI

C. CH,CIC(CH3),CH,0H


https://dl.doubtnut.com/l/_ukJRT1AEASqZ
https://dl.doubtnut.com/l/_uiPpa0J1TKD4

D. CH;CHCICH(CH,;)CH,OH

Answer: A

o Watch Video Solution

8. How many different alcohol (not including optical isomers) are
possible with the molecular formula : CyH;(O?

A. 3

B.4

C.5

D.6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uiPpa0J1TKD4
https://dl.doubtnut.com/l/_tc32UOVeFIlO

9.The C' — C — H bond angle in ethylene is:

A.180°

B.109°28°

C.120°

D.90°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1FLpVnZyhWdB

10. The IUPAC name

A. 2-Chlorocarbonylethyl benzoate

B. 2-Carboxyethylbenzoylchloride

C. Ethyl-2-(chlorocarbonyl) benzoate

D. Ethyl-1-(chlorocarbonyl) benzoate

Answer: C

of

o Watch Video Solution



https://dl.doubtnut.com/l/_S36XAAXVpkJA

11. How many ¢ bonds and 7 bonds are presentin CHy, = C = CH, ?

A. 60 and 17

B. 8 and O

C.40 and 4w

D. 60 and 27

Answer: D

° Watch Video Solution

12. The number of ether metamers represented by the formula

C4H100 is

Al

B.2


https://dl.doubtnut.com/l/_S36XAAXVpkJA
https://dl.doubtnut.com/l/_IqlKDkK49drg
https://dl.doubtnut.com/l/_i2qPERD2qQoQ

C.3

D.4

Answer: C

° Watch Video Solution

13. The IUPAC name

«
\\-
<4
o P ¥
£

A. 2-Bromo-3-methylbut-3-ene

of


https://dl.doubtnut.com/l/_i2qPERD2qQoQ
https://dl.doubtnut.com/l/_qDxuAToQwEe9

B. 4-Bromo-3-methylpent-2-ene

C. 2-Bromo-3-methylpent-3-ene

D. 4-Bromo-2, 3-dimethylbut-2-ene

Answer: B

o Watch Video Solution

14.The IUP AC name of the following compound is:

~ J#\'-w"’ (}\\‘f/\\

ar v

Vv

<

A. n-Propyl ethanoate

B. Ethyl propanoate


https://dl.doubtnut.com/l/_qDxuAToQwEe9
https://dl.doubtnut.com/l/_9vZdzYC9mHHh

C. Pentanoic anhydride

D. n-Propyl propanoate

Answer: D

° Watch Video Solution

15. The number of isomers of dibromobiphenyl (Biphenyl- Cs H5) is:

A.8

B.10

C.12

D.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9vZdzYC9mHHh
https://dl.doubtnut.com/l/_DaferBJ1DTYT
https://dl.doubtnut.com/l/_966xRYwWXErT

16. The IUP AC name of the following compound is:

\O/\\V/\ \.,‘ h/
C

(8

A. 3-Methoxy ethylpropanoate

B. Ethyl 4-methoxybutanoate

C. 1, 4-Diethoxybutane

D. Ethoxy 3-methoxybutyrate

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_966xRYwWXErT

17. The correct IUP AC name of the following compound is:

W

s‘*w-‘f P

A. 2-Bromo-5-methylbicyclo[5: 4: O]heptanes
B. 3-Bromo-7-methylbicyclo[3: 2: O]heptanes
C. 3-Bromo-6-methylbicyclo[3: 2: O]heptanes

D. 2-Methyl-6-bromobicyclo[2: 3: 0]heptanes

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MwsPByqcJyyg

18. The IUP AC name of the following compound is

7
BI\\// Bgr

A. 5-Bromo-3-(bromomethyl) pent-1-ene
B. 3-( 1-Bromomethyl)-4-bromobut-1-ene
C. 1, 4-Dibromo-3-ethenylbutane

D. 1-Bromo-3-(bromomethy) but-4-ene

Answer: A

o Watch Video Solution

Advanced Level Problems Part-5


https://dl.doubtnut.com/l/_N88VPY90VEov

1. What is the correct systematic name (IUPAC name) for

compound below?

2-Methyi-3-5roc

' o
3-isopropythexane . I
: ’ - 3-Hexyloropane
Ethyl isopropy! propyl methane Lf“‘ é 3-Hexylorop.

3-Ethyt-2-methylhexane | J

the

o Watch Video Solution

2. Which of the following is a pair of structral isomers ?

CH, - H, -
@if = | and (W) e and
2 0 H, . L,

o Watch Video Solution



https://dl.doubtnut.com/l/_mFz3aMRKSbGN
https://dl.doubtnut.com/l/_h7jDBIJJ8VMU

